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1 17
n = 10,430 n = 24,069
553 + 6.9 554 + 6.8
cm 166 + 6.1 153.6 + 5.5
ke 682 + 9.7 56.1 + 8.7
BMI kg/m’ 247 + 3.0 23.8 + 35
mmHg 1258 + 16.7 121.9 + 17.3
mmHg 813 + 114 744 + 117
mg/dl 2039 + 335 215 + 345
mg/dl 155.2 + 100.9 113.7 + 68.1
HDL mg/dl 53.7 + 135 625 + 14.1
mg/dl 108.4 + 30.7 99.2 + 207
n=3,013 =9,140
HbA1c % 50 + 0.7 49 + 04

Values are mean = SD, BMI: body mass index

2. 1

n = 10430 n = 24069

kg -0.15 = 224 -0.15 =+ 204

BMI kg/m2 -0.03 + 0.81 -0.04 + 0.88
mmHg 0.08 * 12.72 047 = 12.34

mmHg 0.18 * 8.65 046 * 8.50
mg/d| 0.54 * 21.55 1.84 + 2331
mg/dl -4.16 + 86.20 -0.23 + 59.13

HDL mg/d| 1.13 + 7.09 128 + 7.18
mg/dl -1.76 + 27.22 -0.92 + 1845

n=3,013 n=9,140
HbAlc % 0 = 040 0 = 020

Values are mean = SD, BMI: body mass index



(RIS 7 Z W+ 2010/02)

3.
SE SE SE R?
BMI -0.003 0.003 -0.037 0.001 1.055 0.097 0.018
n =10,430 -0.016 0.003 -0.032 0.002 2.882 0.275 0.017
0.114 0.017 -0.306 0.007 32.367 1.174 0.158
-0.006 0.011 -0.288 0.007 23.952 0.829 0.144
-0.824 0.108 -0.418 0.007 106.237 6.263 0.236
HDL -0.001 0.010 -0.120 0.005 7.649 0.599 0.052
0.135 0.034 -0.412 0.008 35.437 2.031 0.215
(n=3,013) HbAlc 0.003 0.001 -0.178 0.010 0.774 0.074 0.093
BMI -0.004 0.001 -0.026 0.002 0.799 0.058 0.012
n =24,069 -0.018 0.002 -0.025 0.002 2.229 0.144 0.013
0.143 0.011 -0.271 0.004 25.778 0.720 0.138
0.037 0.008 -0.262 0.004 17.961 0.505 0.128
0.407 0.051 -0.393 0.005 22.349 2.765 0.201
HDL -0.032 0.007 -0.115 0.003 10.143 0.429 0.051
0.118 0.016 -0.418 0.005 34.170 0.941 0.217
(n=9,140) HbA1lc 0.001 0.000 -0.125 0.006 0.598 0.031 0.045
BMI: body mass index, SE: standard error, R%:
4,
BMI =-0.003X;- 0.037X,+ 1.055 =-0.004X;- 0.026X,+0.799
=-0.016X;- 0.032X, + 2.882 =-0.018X;- 0.025X,+2.229
=0.114X;- 0.306X, + 32.367 =0.143X,- 0.271X,+ 25.778
=-0.006X; - 0.288X, + 23.952 =0.037X1-0.262X,+17.961
=-0.824X,- 0.418X, + 106.237 =0.407X1- 0.393X,+22.349
HDL =-0.001X;- 0.120X,+ 7.649 =-0.032X;- 0.115X,+ 10.143
=0.135X; - 0.412X, +35.437 =0.118X; - 0.418X, +34.170
HbA1lc =0.003X;-0.178X,+0.774 =0.001X;- 0.125X,+ 0.598
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